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Past Exam Questions

Sections 6.3 & 6.4
1. If  for the function 
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,  A is its amplitude, P is its period, M is its maximum value and m is its minimum value, then 
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  Answer:  
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2. The graph of  the function 
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 on the interval 
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 lies below the x-axis on: 

Answers: 
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3. The sum of the phase shift, the period, and the maximum value of the function 
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Answer: 
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4. Find the amplitude, the period, and the phase shift of the function 
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Answer: 
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5. Find the number of points of intersections between the graph of 
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  and the graph of  
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 in the interval 
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Answer: 
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6. If  
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 the period of 
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 then find the value of  
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Answer: 
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7. Find the range of the function 
[image: image20.wmf]2

()3sin

3

æö

=-

ç÷

èø

x

fx

  



Answer: 
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8. Find the number of maximum values of  the graph of 
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 in the interval 
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Answer: 
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9. Find the period and the phase shift of the function
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Answer: 
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10. If 
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 is the lowest point of the graph of  
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Answer: 
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11. If the adjacent figure represents part of the graph of 
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 then find the value of 
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Answer: 
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